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2. M. Aigx. yRALEE, «*+xy+ vy BRI
.

3 2 2o 2 sz,(’yz 2
i xitxyt+ oy x+xy+(2) 2)+_y

(x+ y) li}o;

Ay, yRHAEE, «*+xy+ BRI,

WER R DR ERERET » Rk EER, HFhEH
PR A= yr—4yt= =3y*< 0 AL,

3. L f(x)=12x-3] + 15x—2], R R &
EMSH R,

%



l’ 5-~7x, x<.,g;

5
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=(a+b)*+c*~-3ab(a+b+c)
s(a+b+c)(a+b)i-(a+b)c+c?] -
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a®+3aB(a+PB) +B3= - p3,
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(x—a)(x-c)+ A(x-b)(x—-d)=0
XMTEER A BAE SRR, Hhaltle<d.
i A,
(1+Mx*=(a+ec+ Mo+ Ad)x+ac+ Abd =0,
HEHREEMR, LAHNRADITE.
B A=(a+c+rb+Ad)* = 4(1+ A) (ac + Abd)
=A%b-d)*+2\(ab +ad + bc + dc — 2bd - 2ac)
+(a-c)*=20 .
oG -d)>0,
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i mEmEl, A
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22. x =%(a" ~a” n), Rx+ VT F DA,

2
o 1+x2=1+%(07+a‘7-2)
1, 2 2
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1 1 L .,
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2sina = 1,

sing = _1-
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24. 34&1‘5& a. bw 4 ,ﬁ%%ﬁﬁﬂ’ ﬂ0+b+0=62,
Iga+lgb+lge= 3, RI=H.

B REE, B
jbz=ac (1)
}lga+lgb+lgc='3 (2)
va+b+ec=62 (3)
t{2)s lgabc= 3, abc=10% (4)
TOORA ), BL=10% b=10, '
H1H=10fLA(3)y, a+c=52 (5)
$b=104L A (1), ac=100 (6)
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c* 4b
¢t =4ab,
Xct=a*+b* FFLLA,
4ab = a* + b*
6ab = (a+b)*
(f’/j;g = ab.

so2 lg\/~_(a +b)=1ga+lgh

Bp lg\—/~w_—(a+b) = ﬁ(lga+ lgb).
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b-c=(g-r)d,
c~a=(r— Pdy
a-b=(p-q@d,
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